ML Meguro Language Center

JLPT N4 Kanji Quiz - 03/34 Answer
R1 1 LAET. 2O~ A RS- BEFELE,

(1)  LLHf 1 WEx 2 LroEx 3 Lxrta 4 WHEA
(2 An 1 LAZY 2 1TAZD 3 1<H 4 1ZAH
(3) HEELE 1 &xFlLiz 2 MEELE 3 TEXFELE 4 BEFELE
M2 ZElc Ao AFHHBZ PV TLIEIN,

(1) 4% 1 3% 2 HA 3 HW 4 7o

2 BZ 1 C5H5h 2 LISA 3 LA 4 Lwdsh
(3) A4AH IHEVELOED 2 HRADRST 3HVELAE-T 4 0nRADED
13 ZZWHLE LwillsAFEXIC 9B% TELL,

(1) ZZwbe 1 Al — I 2 Pk 3Pk 4 Pl —F
(2) LwolcshAEx | 4500 2 +rHi 3 T 4+
(3) TELE 1 AFELE 2 WELE 3 RELLE 4 RELE
14 ZATF2F 2y ASHN RTHR HET,

(1) Ao 1 5% H 2 =R 3 4 H 4 & A

(2) Vi 1 KIKR 2 KRIE 3 NIE 4 NI

(3) T H 1 K 2 LU 3 IR 4 ) F
15 Z0Z FAHEWIZC TLxHYTIT ebElLizhalt SbivElL,

(n = 1 % 2 1 3 Hi 4 M

(2) HAEW 1 5k 2 ek 3 Jeit 4 ke

(3) Lxo¥ 1 TF 2 TR 3 ER 4 kEF



